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ECONOMICS 
Maximum: 80 Scores 

Time: 2½ Hours 

Cool off time : 15 Minutes 

General Instructions to Candidates : 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 
2½ hrs. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 

• Read the questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from 
the same question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except nonprogrammable calculators are not allowed in 
the Examination Hall. 
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1. The range of simple correlation 

coefficient is .......... . 

a) zero to infinity 

b) -1 to +1 

c) minus infinity to plus 

infinity 

d) none of these 

2. Explain the background which 

led to the economic reforms in 

India in 1991. 

3. Explain the measures adopted 

to improve agricultural 

marketing. 

4. Fill in the blanks with the 

correct answer from the 

brackets. 

(agricultural, industrial, service) 

a) Disguised unemployment is 

found in ............ sector. 

b) The newly emerging jobs in 

India are found mostly in 

........... sector. 
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(1) 

(4) 

(3) 

(2) 

2 

b) -1 OlJ,®(llT) +1 (lJ6)C0 

c) @m(/)R"lruu ®ommr>® m6®(l)T) 

(&n.J om:>1 fl! (lju ®om ml)(lj) (lJ 6) co 

2. 1 9 9 1 @ ei m:> o mJ rnm1 ce, n.J co1 n9'.r ce, o co 

6l5B cm ce6{ (lJ '91 6) (lj) ~1.q,J, n.J ~()mm eJ 0 

ru1 ru co1 c06) 6ce, . 

3. ce,oron9'.flce, ru1 n.J sm mo @ m-8eJ @<;i:j s6rnm6crn 

®1momfl ms<;i:j1e.Joc06)1m.> msn.Js1ce,cm 

ru1 ru co1 c06) 6ce, . 

4. l6YlJOc06)f)1(llT) m1crn6o Cll)C01m.>om.> g?_WfmCOo 

nffiSJ,6lWfm'96®1 n.JJC01<;i:j1c06)J,c0,, 

( ce, oron9'.flce,, ru,'.)oru m:> om5lce,, <&m:> ru m) 

a) Ln.J:3JCYD 

c0,06m6l<;i:jS6crn@ .............. <&Ql6l.le.Jm5J(lm 

@'@6ffi. 

g?_ 6fl's o ce, 6 cm @ ® o '91 ei ru m:> co 6l5B cm 

826 

(1) 

(4) 

(3) 

c0,JSJ,®e.J6o ............. <&Ql6l.le.Jm5le.J06ffi. (2) 



5. A government spends Rs. 10,000 

crore on the different 

investment projects in the 

different sectors as follows : 

Education - Rs. 3,500 crore, 

Health - Rs. 2,000 crore, 

Transport - Rs. 2,500 crore, 

Housing - Rs. 1,500 crore, 

Job training - Rs. 500 crore 

a) Write the names of the 

sectors Ill which the 

investment will lead to 

human capital formation. 

b) Find out the total amount of 

investment which will lead to 

human capital formation. 

c) Represent the above data in 

a Component Bar Diagram. 

6. Define Statistics m singular 

sense. 
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(2) 

(1) 

(2) 

(1) 

3 

5. ru J <ll\'.J mt® <& m 6lJ ei ce:, ~1 @ ei m1 <& cfri9::1 n.J 

n.J BD ®1 c0:, 00 c06) 0 m.>1 63 (l) 6 ffi> CO c06) 0 CO 

10,000 <&c0:,0S1 <l>Jn.J ®06l'9c06)06m6cm 

l n.Jc0:, O<l>o @.!2.l eJ ru <#1 c06)6 cm 6· 

ru1B,'.)O@,'.)Offi>o - 3,500 <&c0:,0S1 <l>Jn.J 

@'@<&<l>O(f),'.)o - 2,000 <&c0:,0S1 <l>Jn.J 

(f)®O(f)®o - 2,500 <&c0:,0S1 <l>Jn.J 

n.Joro<;l:Jlso - 1,500 <&c0:,0S1 <l>Jn.J 

@®o<#lam n.J©1Ul>leimo - 500 <&ce:,os1 <l>Jn.J 

a) m m 6 n91,'.i OlJ ei w m m:> J © J n.Jl ce:, © sm 

mm1mu ClJ'91@®~1c06)6cm 

m1 <& cfri9::1 n.J 6llB oo m s mm 6 cm 

826 

<&Ql6lJe.Jc0:,~6)S <&n.J6l(l)'96® 6ce:,, ( 2) 

b) m m 6 n91,'.i OlJ ei w m m:> J © J n.Jl ce:, © sm 

mm1mu ClJ'91@®~1c06)6cm @QlOmmo 

m1 <&cfri9::1 n.J ® 6ce:, ce:, @6fl's mm6ce:,. ( 1 ) 

B mm 6llB ~6 n.J <& m.> 0 (1)1.q,t 63 <l> 6 

ce:, <& ffiJ o sm 1f 6YlJ o co (U) m.> l (/) o 

(lJ (l) (!2)c06) 6c0:,. 

6. m:> o 6lJ,'.)c0:,@ mm Office:, ru .!2.l mo (O(lj}.Q mm1 am 

m1 &<:11.2.!l c06) 6ce:, . 

(2) 

(1) 

Turn Over 



7. a) Define Head Count Ratio. In 

2000 India's population was 

100 crore and number of poor 

below poverty line was 26 

crore. Find Head Count 

Ratio. (2) 

b) In India, Government's 

approach to the poverty 

alleviation was of three 

dimensions. Explain. 

(Hint Policies and 

programmes towards 

poverty alleviation) (6) 

8. .. ........... is the second quartile. 

a) Median 

b) Mean 

c) Mode (1) 

9. Write the problems of Health 

7. a) ®e.J6lm>6J;!;lam ®om6n.JO®o m1&<:11.2.!l 

c006cfb. 2000 rnm1am gQml\'.Jm>6@s 

g,Jffiffi>o6l{l 100 <&cf/JOS1m>6o BOC01LB,'.J 

<&co 6lJ wuc00u ®0@'9 w 6g1g1ru co6 @s 

nffi6J;!;lo 26 <&cfbos1m>6o @'@wlco6crn6. 

gQ ®1 @ ~ ®o s1 m10 om rnm1 am 

®e.J6lW6J;!;lam ®om6n.JO®o 

826 

cfb6fl's6n.Jls1c006cfb. (2) 

b) gQmll,'.)O C/)(lj6fl06)Ql~1@~ BOC01LB,'.J 

m1roQillO©@@ilm mm>6l5BCJDcOOU mJcrnu 

®e.J6l5B~6fm. nllruco1c006cfb. 

( ClUJ.!l.Jffi: BOC01LB,'.J m1©Qlll0©@@ilm 

mm>6l5B~o n.JBD®1cfb~o) ( 6) 

8. .. .. .. .. .. .. . @'@6ffi C06fl's0Ql 6l Wfm cfb J0©6l 6l3am. 

a) QlOW,'.)cfbo 

b) QlOW,'.)o 

C) 6YlJnDJ,e.Jcfbo (1) 

Sector in India. (3) nffi'96®6cfb. (3) 

10. Write the characteristics of a 10. 63co6 m~ <&.!2.JOB,'.)Orue!lc006 <&ru6fl's®om> 

good questionnaire. (3) (1)6sm nJl<&Cll)n916l5BCJD nffi'96®6cfb. (3) 

11. The International Institution 

established in 1995 -

a) GATT 

b) IMF 

c) IBRD 

d) WTO 

12. List out the areas in which rural 

India need development. 
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(1) 

(3) 

4 

mlOOn.Jmo 

a) GATT 

b) IMF 

c) IBRD 

d) WTO (1) 

12. l(f)OQll sm gQmll,'.)W1am ru1cfbcru mo 

@'@QJ Cll),'.)Ql ow (& Ql 6lJ e.Jcfb CJD nmru ? (3) 



13. Explain the phenomenon of 

jobless growth in India. 

14. Prepare a frequency 

distribution by exclusive 

method taking class interval of 

5, by using the following data. 

28 17 15 22 29 

2 9 4 1 8 

8 4 33 27 21 

15. Draw less than and more than 

Ogives for the following data. 

Find out Median Graphically. 

Marks 

0-20 

20-40 

40-60 

60-80 

80--100 

16. Kudumbashree in Kerala is a ....... 

a) Poverty alleviation 

programme 

b) Self-Help Group 

c) Women empowerment 

programme 

d) All of these 
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(2) 

(3) 

21 

3 

15 

(4) 

(1) 

5 

13. gQCYID,'.)mJl@e.J 6l®O<#J(l)T) ©nD1® QJ~©.8,j 

nmcrn Ln.J ®1@om:> o ClJ,'.)c6® aioc06) 6ce:,. 

14. ®crn1co1c06)6crn B Wfm 6l5B 6l ~ c0:,u~()ffi)u 

gQ~ffi6)(lJ (l)T) 5 @'@)m.>1 nm s 6 rnmu' 

nm c0:, V ffi)U <@3 J m>"l (lJU co"l®1mJl(l)T) 63©,!, 

@'@QJ~Wfm1 ru1®©6ffio ®(lli000c06)6ce:,. 

23 27 18 12 7 

10 5 20 16 12 

3 36 

15. ®crn1co1c06)6crn BWfm6l5B~6n.J<&m.>O(f)1.8,ju 

eine.i6 m:>~®oru~rnm1 rulce:,ru6o (1)6©6 

m:> ~ ®oru~rnm1 ru l ce:,ru6 o ru cow c06) 6ce:,. 

ru1®cosmrnm1@~ mow,'.)ce:,o L(f)On.01@~ 

826 

(2) 

(3) 

ffi>nDOWWfmO(l)T) c0:,6fl's6n.Jls1c06)6ce:,, ( 4) 

No. of students 

4 

6 

30 

14 

6 

16. <&c0:,CO~Wfm1@e.J c0:,6s 606YlJ@J ...... 

a) BOC01LB,'.) m1©Qlll0©@@ilm n.JBD®1 

b) m:> J m.>o m>nDom.> l (f)J<;i:::f 

c) m>\®l Cll)Ocfu@lce:,cosm n.JBD®1 

d) gQClJ 6)(!2)~00 (1) 

Turn Over 



17. A consumer's price index 

measures changes in .......... .. 

a) Retail prices 

b) Wholesale prices 

c) Producers' prices 

d) Ration shop prices (1) 

18. Write the uses of index numbers 

in economics. (3) 

19. Calculate the Karl Pearson's 

coefficient of correlation 

between the heights of fathers in 

inches (X) and their sons CY). ( 4) 

X 65 66 57 67 

y 67 56 65 

20. Following table shows the 

occupational structure of India 

in 2000 (in percentage) 

Sectors 
(&Ql 6lJ e.Jc0:, (ID 

Agriculture 

ce:,~n9'./l 

Industry 

ClJ,'.)ClJ m:> O m.>o 

Service 

<&m:> ru mo 

a) Compare this with the 

occupational structure of 

India in the British period. 

b) Compare this with the 

occupational structure of 

Pakistan in 2000. 
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68 

(2) 

(2) 

6 

826 

1 7 • 63 co 6 g?_ n.J (& @ () c0:, V (lj) ~ ru1 eJ ffi) J .2J1 c0:, 

®o ~c06) 6 cm (lj)u 6) eJ 

ClJ,'.) ®1 m.>om 6l5B~o6m'. 

a) -2.ll~o nil eice:, oo 

b) @ mornm nil eice:, oo 

C) g?_e.Jun.JOBc0:, nileice:,oo 

d) <&on91®<&n91o<;i:::f nileice:,oo (1) 

18. m:> ocru rnm1 ce:, C/l) om:>u l ® rnm1 am m:> J-2.llce:, o 

mcru co6ce:,~ @s g?_n.J <&m.>O(f)6l5BOO nffi'9 6 ®6ce:,. ( 3) 

19. n..n®Oc06)®QlOC06@sm.>6o (X) ®oruco6@S 

@'@6ll0 Qlc06)~6<&sm.>6o (Y) 

g?_m.>cornm1@~(gQ~am) <&ce:,oo1<&e.Jn91® 

(1)6smo03:,o ce:,ooo n..n<&w<#m:>@~ Clll®1m5lam 

ce:,6fl's6n..ns1c06)6ce:,. ( 4) 

68 69 70 72 

72 72 69 71 

20. 2000 @'@6fl's1@e.J gQmll,'.)WJ,6lS 6l®O<#Jam 

ne.JSm ( Cll)®QlOffiWfm1 am) .!2.lJ,ClJ @Sm.>6~~ 

n.J 31ce:, m5l am @ce:,os6rnm1 co1 c06)6 cm 6. 

Workers (Percentage) 
6)(lj)()<#Je.Jo~c0:,oo( C/l)(lj)Ql()ffio) 

60 

16 

24 

a) Lmfl 3"l n91u c0:,0e.J 6)Wfm gQmll,'.)WJ,6lS 

@®o'91am ne.ismm.>6mom51 gQ®1@m 

®O CO®Ql,'.)o 6l .!2J ~ce:,. 

b) 2 0 0 0 @'@6fl's1 6) e.J n.J o c06)1 cru.o o@ ~ 

6l®0'91am ne.ismm.>2,mowl gQ®1@m 

®OCO®Ql,'.)o 6).!2.J~c0:,. 

(2) 

(2) 



21. Calculate 

following fre 

the Mean of the 

quency distribution. (4) 

Income (in 000 Rs.) 
ru co6momo 

10-15 

15-20 

20-25 

25-30 

30-35 

35-40 

40-45 

45-50 

Total 

22. Calculate the Mean Deviation 

about the mean and standard 

deviation of the above frequency 

distribution (in Question No. 21) (8) 

23. As a part of a project study, 

Nanditha conducted a study on 

the problems faced by the rubber 

cultivators m Kerala. She 

visited 200 farmers m 

Pathanamthitta district and 

collected the data. In her project 

report, she published her 

findings including the mean 

income of the farmers, range of 

the land holdings etc. 

Identify the following : 

a) Population in this study 

b) Sample in the study 

c) Enumerator in the study 

d) Respondents in the study 

e) Method of primary data 

collection used in the study 

f) Measure of central tendency 

used in the study (3) 
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21. ®crn1co1c06)6crn @'@ru~rnm1 

m1crnu Ql()(,l) :ie ce:, 6(l)c06)() 

No. of Families 
ce:,6s6o6YlJ6l5Bfil6lS nffi6J;!;lo 

4 

8 

18 

30 

22 

10 

6 

2 

100 

22. m6ce:,~1am ®crn1co1c06)6crn @'@ru~rnm1 

nJl®cosmrnm1am m1crn ( <&.!2.JOB,'.J ffiffiJ© 21) 

mow,'.)rnm1am m1crn~ mow,'.)nll.!2.leimru6o 

826 

(4) 

mo mce:,nll .!2.l eJ mru6o ce:, 6mc06)0c06) 6ce:,. ( 8) 

23. 63C06 <&Ln.JOg,J&hS n.Jomrnm1@(VJ @O(l)aiom51, 

<& ce:, co ~ rnm1 @ ei o 6l1J, ro ce:, ro n91 ce:, ro 
®o@1 m6 6lfl ce:, co1 c06) 6 cm L n.J CfD m 6l5B@ ~<;i:l fl1 

mm1® 63C06 n.Jomo msrnm6ce:,m.>66fl'som51. 

®o®1<&e.Jc06)0m51 n.JWfmffio®13 ~~m5l@e.J 

2 0 0 c0:, ©n91 c0:, 6l CO ffi> ffi©Cll)1.8,l B Wfm6l5B CJD 

ru1ru1w 

c0:, 6)6fl's Wfme.J6ce:, CJD6)c06)0<;i:j o c0:, ©n91c0:, C06 @S 

QlOW,'.)ClJ co6momo, ®oru co6@s @@ce:,ru (fl) 

@Jm1ce:,fil@S <&om.>UGY~J ®6s6l5B1m.>ru m.>60 

mm1® ®@<VJ o1<&<;i:Jo&31am 

l n.Jm:>1 BDlce:, co1c06) 6ce:, m.> 66fl'so m51. 

®0@'9n.Jom.>6crnru@m.> ®1co1-8,Jo1m.>6ce:,. 

a) n.Jomwrm1@ei m:>mn91us1 

b) n.Jo mwrm1@ei m:>omJl CJD 

C) n.Jomwrm1@e.J OffiffiJJOl<&Ofl© 
d) n.Jomwrm1@ei nllrucoso®Oc06)CJD 

e) n.Jomrnm1ei6n.J<&m.>o(l)1-8,,I Ln.JOL.Oai1ce:, 
BWfm(&C/l)6lJC06(l) Clll®1 

f) n.J om rnm1 ei6 n.J <& m.> o (/)1 -8,l <&ce:, L m"l m.> 

Ln.JClJ6m®WJ,6lS ®o~ruu (3) 

Turn Over 



24. Write the names of first two 

steps in a project study. 

25. Explain the debate over 

subsidies in agriculture. 

26. In Nedumbasseri International 

Airport, a new solar project was 

launched in October 2015 which 

helps to produce sufficient 

electrical power needed by the 

airport. At the same time there 

1s a project proposal for 

constructing a Hydro Electrical 

Power Project in Athirappalli. 

Among these projects, identify 

the project which satisfies the 

concept of sustainable 

development. Justify your 

answer. 

27. State TRUE or FALSE. 

Through out the Colonial 

Period, India enjoyed export 

(1) 

(3) 

(3) 

surplus. (1) 
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24. 63co6 <&Ln.JOg,JcfuS n.Jomwrm1@~ @'@B,'.J co6fl's6 

neJ §6l5B~ 6lS <&n.J 6) C0'9 6 ® 6ce:, · 

25. ce:, o co n9'.(l ce:, 

m:> o 6YlJ aw1 aj 6~~ 

nil C/l) Bice:, co1 c06) 6ce:,. 

m:>oru OBo 

26. 2015 63c0:,u<&S06YlJ01am @mS6ffiJO<&Cll)C01 

®o mr> o COOn9'.rl s ru1 mom mm ()(lj ~ rnm1 am, 

®oru1<&Sc06)u @'@QJ Cll),'.)QlOW 6)6)QJ B,'.)6®1 

g?_amn.JOB1<;i:j1c06)6cm 63C06 n.J6@1m.> 

m:> ro <&coo ©@@il n.J BD @1 @'@ co o@1 aj 6. 

®o<&®ffi>Ql(!l)o @'@®1CO<;i:j~1mJlam 63C06 g,Je.J 

6)6)ClJBJJ,®n.JBD®1 @'@COo@1c06),!,cm®1m~ 

n.JBD®1 m1&<&'3Cll)ClJ60 m1eiru1ei66fm. 

gQ 'O CO 6fl's 6 n.J BD @1 c0:, ~1 am , m:> 6 mlO 1 CO 

ru1 ce:, m:> m @ m cm ffi'@Cll)m.> rnm1 m m 6 

m:> ~ ® Ql Om.> n.J BD @1 nffi 6l ®cm,!, 

@1co1ajo1m.>6ce:,. m16l5B~6@s g?_WfmCOo 

m ,'.)Oml'lce:, co1c06) 6ce:,. 

l n.Jm:>u ®Oru1c06) 2,ce:,. 

<&ce:, o~ m1 ce:, o ei ne.i 3 rnm1 am m6 '9 6 ru m 6 o, 

826 

(1) 

(3) 

(3) 

gQCYID,'.J ce:,m.>fl6m®1 m1-8,Jo <&ms1m5lco6cm6. ( 1) 
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